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53.1 NO, NO,

N,O, N,O, NO, N,O0,(g) == 2NO,(g)
25 25
N,O, 100 kPa 50 kPa N,O,
@ & NO, Y1 Y
Y1k AH?/kJ-mol” |§¢/KkJ-mol”-K"
NO, 33.18 240.06
N,0, 9.16 304.29

AH® =(2x3318—-9.16)kJ-mol™ = 57.20kJ - mol

AS. = (2x240.06 —304.29)J-mol™ - K™ =175.83 J-mol " - K"
AG® = (5720 -29815x175.83 x107°)kJ - mol™ = 4.776 kJ - mol ™
K°=exp(-AGS /R T) = exp{—4.776 x 10° /(8.315 x 298.15)} = 0.1456



N,O, 1mol
N:O4(g) — ZNO:(g)

H 58 n/mol 1 0
Fifn/mol  1-a 2 ZH p=l-at2a=1+ a Z"’B =1
2 2
/ S/
Kez(pmh/¢%2:(1+aF)F’j . 4’ p
(Pno,/P°) (l-a , o) (-a)1 a p°
p/p
1+«

a=[K®/(K®+4p/p®)|"

B} Tro. _ 2% 3156
b Ce = % v = "-ll.-I » H = = — = . 5
3 p,=100kPaltf, %15 o =0.1874, », Su, 1+a

. ; 2a,

% p, =50kPalf, f#5 a,=0.2605, y,= = 0.4133



